
Camera Slider BOM 
Quantity Description 

Fasteners 
4  Bolt M3 x 10 

2  Bolt M3 x 20 

2  Bolt M4 x 20  (HEX) 
4  Bolt M5 x 25  (HEX) 

7  Bolt M5 x 8mm (HEX) 
2  Lock Nut M3 

1  Lock Nut M5 
4  Locknut M4 

7 M5 Tee nuts 

1 M5 Nuts 
2  Washer M5 

Electronics 
1  3Axis CNC Shield for arduino 

1  HC-06 Bluetooth Module 
1  Nema 17 Motor 

1  Arduino_uno  
2 Mechanical limit_switch 

1  stepper driver 

Printed Parts 
1  Electronics Case_Buttom 

1  Electronics Case_Top 
1  Electronics_Holder 

1  plastic_base_plate 
2  plastic_konb 

2  plastic_slider_foot 

Mechanical 
1  Gt2 Pulley#1 

1  Iddler_GT2_5mm bore 
1  X_Axis_Belt 

Laser Cut Plates 
1  Laser_PLate_Iddler 

1  Laser_Plate_Carriage 
1  Laser_Plate_Motor_Mounts#1 

Linear stuffs 

6  V_slot Bearing 626 2RS 
1  V_slot Eccentric SpacerEccentric Spacer 

3  V_slot M5_Nylon_LockNut 
1  V_slot Rail 

3  V_slot Wheel Internal washer 
2  V_slot spacer 6.35mm 

3  V_slot wheel 

 


